Tope & = By (Mot;,)

(i) Simplify 5v/8 +44/50. Express your answer in the form av/b, where a and b are integers and
b is as small as possible. (2]

Q1, (Jan 2006, Q8)

in the form p+ q\/g , where p and ¢ are rational. (3]

(ii) Express
= NJ

/ SIT « LEo = SJElr 4 28/7 = 1002 + 202 =|DJ2

W, B, b= = G> 3 = 663 =28 +1faFe

b-f5 6 /3 36 +LE-Lf5 -3 33 tl ; H
Q2, (Jun 2006, Q7)

(i) Simplify 6v2x5vV3—-+24. 2]

(ii) Express (2—3v5)2 in the form a+b+/5, where a and b are integers. [3]

W

i/(;ﬁxsfafz“o 0O€ - [&T = 300 - 2/c =|28/¢

3% (2-33)(2-3F) = L -6/3 - ¢f3 « IRK =|w ~12§

Q3, (Jan 2007, Q7)

9-+/17 9++/17
2 and ¢c=

b= . Show that a + b + ¢ = abc. (4]

| W

You are given that a =

a-&\ﬁ_cc' = _1_ - 9—J|_'-,7- — ?—e\ﬁ‘?

L e s
[- L «9 j/m + 9 47 = A«_ 4 6
Le L
abe = A, 9-[3 , 9-43 = _3( “J’_?',)(?—rﬁ—)
& e e 32

= (81« 247 - off3 -17) = 3(64) > 3(2) H{C

37 32

atb-¢c = abe




Q4, (Jun 2007, Q8)
(i) Simplify V98 —+/50.

(ii) Express 76\' Sg in the form a + b5, where a and b are integers. (3]
2+

i/\f%-\féb 2 (B2 - Jsyz 2 2 - 5072 =|2/z

n‘/ of5 , 2-3 -1JS -30 - 12JS-30 =| 80-12/3
2«3 2 =% G- 25 <R -5 ~(

Q5, (Jan 2008, Q8)

(i) Write V48 + V3 in the form avb, where a and b are integers and b is as small as possible. 2]

-—

| |
ii) Simplif + . 3
R . Bl .

/@5 2 GG -5 W e[sh

e L . 3fesen - _w©
°J2 5-2 (5*{2)(5'&) 25 -52 —(-/51}{-2
= [ 10
23
Q6, (Jun 2008, Q7)
(i) Express : in the form & +bV3 where a, b and ¢ are integers 2]
ST A — . S. 2
(ii) Expand and simplify (3 - 2\/7)2. [3]
| I 5- 3 =_5-/3 = | 5 -3
X
/ G« G -3) 5-56+58 - 22

i, (2-2)(3-23) = 9-6[3 -7 ~28 = |87 —12/(7

Q7, (Jan 2009, Q10)

(i) Express V75 + /48 in the form av/3. [2]

14
-5 in the form b + ¢Vd. [3]

(ii) Express

\

i, 3« (G B3 « (K3 = 53 «L3 2|93

‘u'/ b, 3> = _L2 < (L[2 L2 2 = |e+2/5

1l

3 -2 3 «J2 9 + 327347 -2 7




Q8, (Jun 2009, Q8)

(i) Simplify ;—’_7
&V 4

(ii) Expand and simplify (5 - 3\"’5):.

g/ w8 - is/3 .
Liz# 233

i/ (5-3Z)(s-3%)

\

Q9, (Jun 2010, Q5)

W3 .

\!

4
3

6/3

7S -IS{Z ~ISJ2 +~ 922

2S ~50f2 + 18 =

L3 ~30J2

(i) Express V48 + V27 in the form aV/3.

/3

(ii) Simplify = Give your answer in the form

3-v2

"/\/:-t\/-z-7:

|’|'/ 6‘12 < 3« J-Z-. =
3-4d2 S +J2
Q10, (Jan 2011, Q7)

81 A
(i) Express —= in the form ;o

V3

/s « 5[5 =

—
b+cv2

¢

«f3 + 33

= |73

SIZ « (O = 10

+15/2

9+3C - 32 -2

+

5+ﬁ a+b\/§

(ii) Express % in the form

, where a, b and c are integers.
Z
-2
2558 +5+3 - 28<i0f3
25 +5F -53 —3 22
= 1~

L

(2]

(3]

(2]

(3]

(2]

(3]




Q11, (Jan 2012, Q4)
3]

(i) Expand and simplify (7 + 3V2)(5 - 2V2).
2]

12

(ii) Simplify V54 + N3
3 - IWJZ « I1S/Z - §(2)
23 «J2

‘\/(? %’LJZ)(S/ Zﬁ)

i

YV B = (JT - 3

2D [+ 1L = 806 «2/C =I5

[P ANEIV AN -EE = 26 ya
6 T %g F

Q12, (Jun 2012, Q5)

e o 10WBP
(i) Simplify VT

b adt e 1 1
(i) Slmpllty4_\/§+4+\/§.

i/ ofF) . OEEE = 100 = |20
2% cr4 2

ii/ \ - (L L+ B+ -5 = &
G -5 G +J3 (Le-ﬁ)(‘-”ﬁ) 6 -e/L;.Jg —%—-5
)

—

\

Q13, (Jan 2013, Q7)
(i) Express Y48 + Y75 in the form a Vb, where a and b are integers.

+ 295 : . . a+by5 .
, expressing your answer in the form , where a, b and c are integers.
p

i) Simplify 77+ ;.
{/m*’@%:\l-lzr"@ﬁ‘@ﬁ"sﬁ‘

3+ L, F=I5 | k9 -5 +ikfs ~ 2S)
7 4+ 3 2 -3 W ~FB+F8 -5

29 + 2[5
Lele

\

3]

2]

2]

3]




Q14, (Jun 2013, Q7)

(i) Express 1255 in the form 5*. 2]

(ii) Simplify 10+ 795+ : _%: = giving your answer in the form a + b¥5. [3]
! 5 _ 2
|/ 255 = 5x5° =[5+
i 23, 1+2/5 . 33 + 73 = 38 « %8
|- 285 | «2/S | -2 25— (s) -9
= -2 s

O« 35 -2 - WS =|8 + 38

Q15, (Jun 2014, Q4)

(i) Expand and simplify (7—-2v3)*. [3]
(ii) Express "m() in the form aV/b, where a and b are integers and b is as small as possible. 2]
i/ (?—zﬁ)(n ~23) = &9~ I - I3~ L{3)

=|cl - 28/3

i, OE . W0 - L0 - e
& BE B

Q16, (Jun 2015, Q6)
(i) Expand and simplify (3+4+5)(3-2V5). |3]
P
(ii) Express V72 + % in the form av'b, where a and b are integers and b is as small as possible. 2]

L (B~eB)(3-1E) = 2B < ~8()
= |— 3%l (,Jg

A+ 2L = (%7 + B2 = 62+ 37 = 6l-l6f2 =222
Z [PANF 2









